=1Alof 7,300

CiE2t etz o[Al (ICBM) & B &8t Etzo[AKY--1,670 i
Fg} LA EHo[AFY (SLBM)S 9] s defix] - 1,520
EHT|S SZ7|0f] 5t QUb-rreeeerreeerrrinnrreeeee 1.370

L R 2,740

A LA EHo|AR (SLBM) S sfth&]--240 ‘ ‘

ZAT|S SZT|0f| OF QUL i 50 l“
LT < ——— 10 ‘l““‘

5 7 o|=7000
Z= =L 260

jS 7+ EHzalAll (ICBM) £ |25 EtzalAl 1 63 B

A48 YAl EhzojAle (SLBM)Sel sl 48 482+ EHE0lAL (ICBM) & B[ B iAo - 760

EHT|S STT|0ff 5t Db vvvrrreererenerrsnne 20 A48 WAL EbnlAel (SLBM)S2] et — 2 302
L L —— 30 e 1440

%l -E- 215 i E|o 5 01@% ...... 2 500

Fgf AL EHTo|AFY (SLBM) S| st -215

ojA 2 8o
OS2t e 0jARS (ICBM) & H|RSt EHajAlY - 5
£yl IR I T T —— 30

7| AEH 130

CHS 2k E=0lAt (ICBM) & BRet EtEO(Ald:- 94
Eb ISR by 1T\ T[T —— 36

O| I 100~120
ChE7} EbE0jAKY (ICBM) & H|R5t EFEOjARY-- 54
H43 HhAL EFEO|AKY (SLBM) S sLthR|-2~1 6
gzﬂijlg ;gl-.g_jw." gl?_} _E_|l;|_|. ................................. 48
=5} <10

CHE 7+ EHEOjAR (ICBM) & H| R EtealAf----?
A48} AL EFEO|ARY (SLBM)S 9] S| 2

MA SE
AA(Z)

HHHMSS= 2ot 2172
YU (5L)S LT0A =
HlFstl, 2 SE7HX| 9
=22AZtS (0A7HA[ 2
= H2 A2 2R |
ojgt F4Mof dFHo=z |
EHE AAL S B28). |

SH27| 7| L7tAT] ed2tgels]/ LZtA|ohE 27| 7| oA HEFH(RECNA) ZHA: RECNASENT H|o|E| FHE O AAM|st H|o|E{= : http://www.recna.nagasaki-u.ac. jp/
A= dh2E o8 =2 AN ZE §Rls2 ctES JUSLH .



